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Q.1 Choose the right option and rewrite the sentence 1
1 Services, like ............... in Brazil are well developed and efficient.
a. banking b. entertainment c. tele-communications d. transport
Ans Services, like tele-communications in Brazil are well developed and efficient.
Q.2 Name the following 2
1 Name the important fish of India's eastern coast.
Ans Horse mackerels, clupeids and silver bellies.
2  Time difference between the western most and eastern most points of Brazil.
Ans 168 minutes (2 hours 48 minutes)
Q.3 Differentiate the following 4
1 Water Transport in Amazon River & Ganga River.
Ans Amazon River Ganga River
i Amazon is the largest river of the world Ganga is the longest river of India
i Amazon is used for people and good transport in Ganga is mostly used for people’s
Brazil transport only
i Amazon river is used for commercial purpose on Ganga is not used for commercial
large scale purpose
2 I.S.T. and B.R.T.
Ans LS. T. B.R.T.
j | Thefullform of ISTis Indian The full form of BRT is Brazilian Time.
Standard Time
. i . Brazil has four time zones, But GMT-03 is considered
ii Indian follows one standard time L
official time zone.
i IST is 5 hours 30 minutes ahead BRT is 3 hours behind GMT
of GMT.
Q4 Give Geographical Reasons(Any One) 3

1 We rely on the sea-route for international trade.

Ans i. Waterways are the cheapest mode of Transport.
ii. International trade is carried out with distant countries.
iii. Heavy machinery, bulky goods can be easily transported through skipping.
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2 Except Delhi and Chandigarh, urbanization is low in other parts of India.

Ans 1. The process of urbanization depends on different social, economic, historical and political factors in
different regions. So the rate of urbanization differs from region to region.
2. Delhi is country’s capital so all Govt. authorities and world embassies are located here. And
Chandigarh is a capital of two states Punjab and Haryana and it is a Union tertiary.
3. Both the cities are having all the required facilities, like education, health, Transportation etc.
compare to this other parts less develop

Q.5 Answer in detail/ brief(Any One) 4

1 On the basis of following location, pattern types and density of population distinguish the following
images.

< A
- Y
X

Ans INDIA BRAZIL
(a) (b) (c) (d)
Urban, Ri . . . .
. rban, River Village, Tribal area, | River basin Urban area,
Location valley, Paddy ,
Remote area [Amazon] Plantation area,
lands
Pattern Nucleated Dispersed Dispersed or Nucleated
types settlements settlements liner settlements settlements
Density of Very high, high & Very high, high
Very | Very |
Population moderate ery fow ery fow & moderate

2 Modern means of communication.

Ans i. With the explosion of electronic media telecom industry has grown at a faster rate worldwide.
ii. Telecom industry include landlines as well mobile services and access to computer and internet.
iii. Smartphones and mobile phones have become a necessity.
iv. Countries launching their own satellite to expand their communication services.
v. Modern means of communication has made the world smaller. There is exchange of knowledge,
Technology culture and Trade, business worldwide.
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